SUPERSTAR 3-Digit Addition [Nome
WORKSHEETS Word Problems No Regrouping Date:

Use the template provided to write and solve each equation given within the word problem.

If there are 325 crayons in the box and IS0 more

crayons are bought, how many crayons are there in
total?

Lily has 32| beads and her friend gives her 234 more.

How many beads does Lily have now?

Lucas saved 376 dollars and received 213 more as a

gift. How much money does Lucas have in total?

A farmer harvested 567 pumpkins in one field and 402

pumpkins in another. How many pumpkins did the farmer

harvest in total?

Ava has Y56 stickers in her collection, and she received

122 more as a gift. How many stickers does Ava have in
total?

Jacob caught 278 fish on his fishing trip, and then he
caught HOO more. How many fish did Jacob catch in all?
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